

Name of College - S.S. College J. Road

Dept - Mathematics

Topic - Problem Based On

Indeterminate Form (Differential)
(Contd) Calculus

Class - B.Sc.II (Hons)

Date -

Time - 10.15 A.M to 11 A.M

11.00 A.M to 11.45 A.M

06-08-2020

By - Samarendra Kumar

PAGE NO : 1

DATE :

[Problem based on the Form $\frac{\infty}{\infty}$]

Form $\frac{\infty}{\infty}$: $\lim_{x \rightarrow a} \frac{f(x)}{g(x)} = \lim_{x \rightarrow a} \frac{f'(x)}{g'(x)}$

1. Evaluate $\lim_{x \rightarrow a} \frac{\log(x-a)}{\log(e^x - e^a)}$

Since it is in the form $\frac{\infty}{\infty}$

$$\text{Here } f(x) = \log(x-a) \Rightarrow f'(x) = \frac{1}{x-a}$$

$$g(x) = \log(e^x - e^a) \Rightarrow g'(x) = \frac{1}{e^x - e^a} \cdot e^x$$

$$= \lim_{x \rightarrow a} \frac{\frac{1}{x-a} \cdot e^x}{e^x - e^a}$$

$$= \lim_{x \rightarrow a} \frac{e^x - e^a}{(x-a)e^x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow a} \frac{e^x}{e^x + (x-a)e^x}$$

(Applying L Hospital Rule.)

$$= \frac{e^a}{e^a + (a-a)e^a} = \frac{e^a}{e^a} = 1$$

2. $\lim_{x \rightarrow 0} \frac{\log x^2}{\log a^2 x}$

it is of the form $\frac{\infty}{\infty}$

$$\text{Here } f(x) = \log x^2 = 2 \log x \Rightarrow f'(x) = \frac{2}{x}$$

$$g(x) = \log a^2 x = 2 \log a + \log x \Rightarrow g'(x) = \frac{2}{a^2 x} (-a \sec^2 x)$$

$$= -\frac{2a \sec^2 x}{a^2 x}$$

$$= \lim_{x \rightarrow 0} \frac{\frac{2}{x} \left[-\frac{2a \sec^2 x}{a^2 x} \right]}{a^2 x}$$

$$= -\lim_{x \rightarrow 0} \frac{a^2 x}{x a \sec^2 x}$$

$$= -\lim_{x \rightarrow 0} \frac{a \sec^2 x}{a} \quad \left[\frac{0}{0} \right]$$

Applying L-Hospital Rule

PAGE NO. 2
DATE

$$= \lim_{x \rightarrow 0} \frac{\cos^2 x - \sin^2 x}{1}$$

$$= \frac{1 - 0}{1} = 1$$

Evaluate $\lim_{x \rightarrow \infty} \frac{x^n}{e^x}$ $\left[\frac{\infty}{\infty} \right]$

$$= \lim_{x \rightarrow \infty} \frac{n x^{n-1}}{e^x} \quad \left[\frac{\infty}{\infty} \right]$$

$$= \lim_{x \rightarrow \infty} \frac{n(n-1) x^{n-2}}{e^x} \quad \left[\frac{\infty}{\infty} \right]$$

$$= \lim_{x \rightarrow \infty} \frac{n(n-1)(n-2) \dots 3 \cdot 2 \cdot 1 x^0}{e^x}$$

$$= \lim_{x \rightarrow \infty} \frac{1}{e^x} = \frac{1}{\infty} = 0 \quad \text{Since } \frac{1}{\infty} = 0$$

Problem based on $0 \times \infty$

$$\lim_{x \rightarrow \infty} f(x) \cdot \phi(x)$$

$$= \lim_{x \rightarrow \infty} \frac{f(x)}{\frac{1}{\phi(x)}} \quad \left[\frac{0}{0} \right]$$

Then Apply L-Hospital Rule.

$$\lim_{n \rightarrow \infty} n \sin \frac{1}{n} \quad (\infty \times 0)$$

$$\text{Let } \frac{1}{n} = \theta \quad n \rightarrow \infty \quad \theta \rightarrow 0$$

$$\lim_{\theta \rightarrow 0} \frac{\sin \theta}{\theta} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{\theta \rightarrow 0} \frac{\cos \theta}{1} = \cos 0 = 1$$

$$\lim_{x \rightarrow 0} (x \log x)$$

Form $0 \times \infty$

$$x \rightarrow 0$$

$$= \lim_{x \rightarrow 0} \frac{\log x}{\frac{1}{x}}$$

$$= \lim_{x \rightarrow 0} \frac{1/x}{-1/x^2}$$

$$= \lim_{x \rightarrow 0} -\frac{x}{1} = 0$$

Evaluate $\lim_{x \rightarrow 0} x \log |\tan x|$ it is of the form $0 \times \infty$

$$= \lim_{x \rightarrow 0} \frac{\log |\tan x|}{1/x} \quad \left(\frac{\infty}{\infty} \right)$$

$$= \lim_{x \rightarrow 0} \frac{1}{\tan x} \times \sec^2 x$$

$$= - \lim_{x \rightarrow 0} \frac{x^2}{\sin x \cos x} \quad \left(\frac{0}{0} \right)$$

$$= - \lim_{x \rightarrow 0} \frac{2x}{\cos^2 x - \sin^2 x}$$

$$= - \lim_{x \rightarrow 0} \frac{2x}{\cos 2x} = \frac{-2 \times 0}{1} = 0$$

$$\lim_{x \rightarrow \infty} 2^x \log \frac{a}{2^x}$$

it is of the form $0 \times \infty$

$$= \lim_{x \rightarrow \infty} 2^x \log \frac{a}{2^x}$$

put $\frac{a}{2^x} = \theta$ When $x \rightarrow \infty$
 $\theta \rightarrow 0$

$$\Rightarrow 2^x = \frac{a}{\theta}$$

$$= \lim_{\theta \rightarrow 0} \frac{a}{\theta} \cdot \log \theta$$

$$= a \lim_{\theta \rightarrow 0} \frac{\log \theta}{\theta} = \quad [0/0]$$

$$= a \lim_{x \rightarrow 0} \frac{\sec x}{1}$$

Applying L-Hospital Rule.

$$= a \times 1 = a$$

Problems based on the form $\infty - \infty$

Method $\lim_{x \rightarrow a} [f(x) - \psi(x)]$ Where $\lim_{x \rightarrow a} f(x) = \infty$
 $\lim_{x \rightarrow a} \psi(x) = \infty$

$$= \lim_{x \rightarrow a} \frac{1}{\frac{1}{f(x)} - \frac{1}{\psi(x)}}$$

Which is of the form $\frac{0}{0}$

(Then Apply L-Hospital Rule)

$\lim_{x \rightarrow \pi/2} [\sec x - \tan x]$ it is in the form $\infty - \infty$

$$= \lim_{x \rightarrow \pi/2} \frac{1}{\cos x} - \frac{\sin x}{\cos x}$$

$$= \lim_{x \rightarrow \pi/2} \frac{1 - \sin x}{\cos x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow \pi/2} \frac{-\cos x}{-\sin x} = \frac{0}{1} = 0$$

Problem $\rightarrow \lim_{x \rightarrow \pi/2} [x \sec x - \pi/2 \tan x]$

it is in form $\infty - \infty$

$$= \lim_{x \rightarrow \pi/2} \frac{x \sin x}{\cos x} - \frac{\pi}{2 \cos x}$$

$$= \lim_{x \rightarrow \pi/2} \frac{2x \sin x - \pi}{2 \cos x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow \pi/2} \frac{2[\sin x + x \cos x - 0]}{x \sin x}$$

$$= \frac{2 \sin \pi/2}{x \sin \pi/2} = -$$

Ex 10 $\lim_{x \rightarrow 0} \frac{1}{x} - \cot x$ (It is in the form $\infty - \infty$)

$$= \lim_{x \rightarrow 0} \frac{\sin x - x \cos x}{x \sin x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{\cos x - [\cos x + x \sin x]}{\sin x + x \cos x}$$

$$= \lim_{x \rightarrow 0} \frac{x \sin x}{\sin x + x \cos x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{\sin x + x \cos x}{\cos x + [\cos x - x \sin x]}$$

$$= \lim_{x \rightarrow 0} \frac{\sin x + x \cos x}{2 \cos x - x \sin x} = \frac{0}{2} = 0$$

Evaluate

$$\lim_{x \rightarrow 0} \left[\frac{1}{x^2} - \frac{1}{\sin^2 x} \right]$$

it is in the form $\infty - \infty$

$$= \lim_{x \rightarrow 0} \frac{\sin^2 x - x^2}{x^2 \sin^2 x} \quad \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{2 \sin x \cos x - 2x}{x^2 \times 2 \sin x \cos x + 2x \sin^2 x}$$

$$= \lim_{x \rightarrow 0} \frac{\sin 2x - 2x}{2x \sin^2 x + x^2 \sin 2x} \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{2 \cos 2x - 2}{2 \left[\sin^2 x + x \times 2 \sin x \cos x \right] + \left[2x \sin 2x + 2x^2 \cos 2x \right]}$$

$$= \lim_{x \rightarrow 0} \frac{2 \left[\cos 2x - 1 \right]}{2 \left[\sin^2 x + 2x \sin x \cos x \right] + 2 \left(x \sin 2x + x^2 \cos 2x \right)}$$

$$= \lim_{x \rightarrow 0} \frac{\cos 2x - 1}{\sin^2 x + 2x \sin x \cos x + x \sin 2x + x^2 \cos 2x}$$

$$= \lim_{x \rightarrow 0} \frac{\cos 2x - 1}{\sin^2 x + 2x \sin x \cos x + x^2 \cos 2x} \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{-2 \sin 2x - 0}{2 \sin x \cos x + 2 \left\{ \sin 2x + 2x \cos 2x \right\} + \left\{ 2x \cos 2x - 2x^2 \sin 2x \right\}}$$

$$= \lim_{x \rightarrow 0} \frac{-2 \sin 2x}{2 \sin 2x + 4x \cos 2x - 2x^2 \sin 2x} \left[\frac{0}{0} \right]$$

$$= \lim_{x \rightarrow 0} \frac{-4 \cos 2x}{6 \cos 2x + 4 \left[\cos 2x - 2x \sin 2x \right] - 2 \left[2x \sin 2x + 2x^2 \cos 2x \right]}$$

$$= \frac{-4 \times 1}{6 \times 1 + 4 \left[1 - 0 \right] - 2 \left[0 + 0 \right]} = \frac{-4}{12}$$

$$= -\frac{1}{3}$$